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Nwms:

Pemure kaxayr 3axauy.

D 141:70=

2) 45000 :5 000 =

3) 600 :200 =

4) 4502:900=
5) 7203:900=

6) 40 000 : 8 000 =

7 12001 :6 000 =
8) 40 005:5000=
9 600 : 600 =

10) 140:70=

) 18002 :2 000 =
12) 4205:700 =

13) 320:80=

14) 2400 : 600 =

15) 123:20=

16) 350:70=

17) 36 000 : 4 000 =

18) 18 001 : 9 000 =

19) 4000 : 800 =

200 720:90 =
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19.
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ﬂh I[eﬂeHHe C KpaTHbIMHU OCCATHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemnre Kaxayro 3agady. OTrBeTHI
D 141:70=_2rl L 2rl
2) 45000:5000= 9 , 9
3 600:200= 3 3 3
49 4502:900= 512 4 5r2
5) 7203:900= 813 . 813
6) 40000:8000= 5 ] 5
7 12001:6000= 21l . 2rl
8) 40005:5000= 8§15 . 8 15
9 600:600= 1710 9. 1r0

10) 140:70= 2 " 2

1) 18002:2000= 912 L 9r2

12) 4205:700= 6715 b 615

13) 320:80= 4 13. 4

14) 2400:600=_ 4 14. 4

15) 123:20= 613 15. 613

16) 350:70=_ 5 16. S

17) 36000:4000=__ 9 17, 9

18) 18001:9000= 21l 18 2rl

19) 4000:800=_5 19, S

200 720:90= 8 20 8
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